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Answer all questions in the spaces provided.

o XL Y ¥
6 . 8 [1 mark]

1 Circle the ratio that is the sameas 3:4

2

Not drawn

accurately

260 - CS °oté6 o)
260~ 10
o
= 250
Circle the size of angle x.
[1 mark]
70° 110° 270°

3 Circle the expression that has the smallest value when x

=4
S—% :'—\\ C..\i\‘{:——t—é- \ \-e'(-l-;f\ l+—b{->0[1mark]

1
5-x —X + 1
2 *

L
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Do not write
outside the
4 The term-to-term rule for a sequence is o
add 1 then double Q,
6
The first two terms are 2 and 6 @_\-\) ?(,)\ - \Lt_
Circle the next term.
[1 mark]
9 13 18
5 (a) Sole 7x-56 1xe.=5€ - &
—_— . [1 mark]
k ~ R
LT =
o <
§ (b) Solve 25-y-18
[1 mark]
9\ -\ - =
il ot BUR
-1
6
Turn over p

03
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6 Eleven people play a game.
Here are their scores.

12 9 %5 9 18 18 3 14 16 20

—

| ©

6 (a)  Write down the mode.
[1 mark]

Answer %

6 (b) Workoutthe median.

2,9.9, \1[@1‘5, 16 18,13 0

[2 marks]

Answer \ L\-

0 4
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7 (a)

7 (b)

Line AB is shown where A is the point (1, 0) and B is the point (5, 8)

VA

P is a point on AB. ACH 0) 4 (Sl %\

The distance AP is half the distance AB. . :
w1ty fony (@x‘+x*\ 3

Work out the coordinates of P.
( Lo

Answer  ( D , i

A line is drawn from B that is
parallel to the x-axis
meets the y-axis at point Q.

Work out the coordinates of Q.

Answer ( O < )

(yrd 2)

[1 mark]

[1 mark]
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8 (a) Wirite down an even whole number that is also a square number.

op
|
S S

B

[1 mark]
Answer \G;
8 (b)  Write down all the cube numbers between 100 and 400
2 2 3[2 marks]
> -
Boot] 8= \ag 67 = 216 U= 343 (2261
- ! - .
Answer 5 L 6 ! 7
8 (c) Write down two numbers that
are multiples of 3
and
multiply to make 216
[1 mark]
21¢ »:,—(.';)_,1 2\ 6 Y llﬁﬁlu\r

Answer 6 and

5¢

MM
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9

° (a)

9 (b)

Members of a club are Senior, Adult or Junior.

Here is a report about the members of the club.

18% are Senior
54% are Adult
38% are Junior

Give a reason why there must be a mistake in the report.

12+ sy +3% =W

[1 mark]

The  Perenteges Shoud  addup o Lol

Nor \Wa7, ~

An Adult membership fee is £120

A Junior membership fee is % of the Aduft fee.

Work out the total membership fee for 2 Adults and 3 Juniors.

07

[3 marks]
\ VPP, TS C (unier mrembo siup )
= o L p—— ”
LA X2 = 12 +
\20 X = D
31 2
Answer £ 3‘ :L
Turn&er‘
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10 (a) Here is a number machine. =

Input Output

Work out the output when the input is 16

[1 mark]
(lexa)+q = 7132
Answer —{ 3
10 (b) Here is a different number machine.
Input Output
+6 > +2
Work out the output when the input is —48

[1 mark]

))

-2\

GL\'%*€3+Q‘ =-A2<2

Answer - D\ \

08
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Do not write
outside the
10 () Complete this number machine. pox
[1 mark]
Input Output
x > - 10
Lokt wedavwn e o
S5xx —lo=g
S, — =
Ex =015
< S
o A=
|
11 Here are two calculations.
A } s
172 - 300 47 x 21 -10° t
| . ,
Which calculation has the smaller answer?
You must show the answer to each calculation.
2 [2 marks]
"1~ = RoO | 41x2l — (000
L‘Zﬂ — 00 = -\\ \ ﬂ 1 — 000
\ = -2
Answer L] X 2| — log
5
Turn over »

I
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Do not write

outside the
12 Match each expression on the left with one on the right. box
One has been done for you.
[4 marks]
4ab
12ab =+ 4
4+ a
ata+a+a
3ab
4xaxh 4a
a’
axaxaxda
2ab
ata+b+b
2a+ 2b

L
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1

18 Jenny works for 30 hours and is paid £318
Calvin works for 28 hours and is paid £287

Jenny is paid more per hour than Calvin.

How much more?

[3 marks]
j e fey Rer Wour = £ 31
- 30 - FO6

Calvia Kou  Rer houe = €287 _ 10425
— 22

\Q- 6~ \O-285= —0-35 %00 -.-_35{7.

Answer 35 pence

Turn over for the next question

Turn over »
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14 This circle has centre C.
W, X and Y are points on the circle.
WY is a straight line.

Tick one box for each statement.
[3 marks]

True False

WY is a diameter. \‘/‘

WX is a radius.

AN

AN

The shaded section is a sector.

Arc XY is part of the circumference. ¥

M
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13

15 Mortar is made by mixing cement and sand as shown.

For every 1 kg of cement used, add 4 kg of sand

Cement costs £0.19 per kg
Sand costs £0.07 per kg

Tomasz uses 150 kg of cement to make some mortar.

Work out the total cost of the mortar.

5 Qi Comant-

[3 marks]

1SS0 x y = 660 Kas Sany.

|S0x 619 = 285
Eoor 001 = 442

L

Answer £ 185

Turn over for the next question

L

Turn over b
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16 (a) Here is a shape made from rectangles.

Not drawn
9cm accurately
|
I 2cm
8cm A
4 cm
Work out the area.
[3 marks]
A= Bxue =232 cm™
L= C-x)x 2 = |0 em®

S22 O

)

AAcm”

Answer

i
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| Do not write
outside the
16 (b)  Zak wants to work out the area of this triangle. box
Not drawn
accurately
«——12cm—m-— ">
Here is his working.
{' 12 x 8 = 96 cm? J
What is wrong with his method?
{1 mark]
We Shuud Awide Ytag awves L& 2]
\
5 AW KR = 4 Cmt
- —
1
Turn over for the next question
4
Turn over »

1 5
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Here are shapes P, Q and R.

17
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P is mapped to Q by a single transformation.

17 (a)

Circle the type of transformation.

[1 mark]

enlargement

translation

rotation

P is mapped to R by a single transformation.

17 (b)

[1 mark]
IB/M/Jun20/8300/2F

translation enlargement

reflection

Circle the type of transformation.

6

1
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18

17

Kim buys pet food in 1.5 kg packs.
Her pet needs 0.8 kg of food each week.

She wants to have enough food for the next 14 weeks.

She already has two 1.5 kg packs.

Work out the smallest number of packs she needs to buy.
You must show your working.

[4 marks]
OB xie =140 285
R C?: %x1-S )= ‘Zs'zuu
_87'9\ = G faca
'S *
> C
Answer 6
Turn over for the next question
* Tumn over »

L
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Do not write
outside the
19 A scale drawing shows the positions of P, Q and R. pox
Not drawn
.& accurately
f P x
f |
i xR |
n
t
E_
%
| |
; X
| Q
| — -
On the scale drawing
PQ=4cm QR=6.5cm
The actual distance PQ is 50 metres less than the actual distance QR.
Work out the scale.
[3 marks]

6-Hem—nem = A:-Stmllem = Q0m.

SO = QQ
2.5

Answer 1 cm represents “§ ©) metres

L
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20 (a) aand b are whole numbers.
a<g 12 b<9
Work out the largest possible value of 2a+ b
[2 marks]
2(1) « &
2 + = SR
Answer 3 l
20 (b) xand y are both negative numbers.
Show that £ could equal 4
X
[1 mark]
et t& = =4 Anyd X = -\
=1 S——
Turn over for the next question
Turn over »

L
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20

Jill puts 440 sweets into small bags, medium bags and large bags.

Smali Medium

12 sweets

She uses
30 small bags

twice as many medium bags as large bags.
There are no sweets left over.

For the number of bags, work out the ratio

small : medium . large

Numhe~ OF [4 marks]
‘et o \arar bags be s
M L a
A0 4 Ax +x
gXx30 t 2(uwt lex = % &0
Qe+ AL+ (6 = Hu0
AQOpr = HKD — 2D
~402x = 200
LD L0
= =5 5
MLdwum = 2x&S = (O
Answer 3)0 \-O 5

2 0
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L

22 Here is the graph of y=x?-7x+ 10 for values of x fromOto 7
T g Carve
Crosces . axu Qf
22 (a) Write downtherootsof x2—7x+10=0 ?O\V\ s (a,0) and %,9)
[2 marks]
Answer 2. Gnd 5
22 (b) Write down the x-coordinate of the turning point of the curve.
[1 mark]
Answer 3 ) 5
Turn over »
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23 The time students spent watching TV was recorded.

The table shows the average daily time per student each year from 2012 to 2019

Year 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019
Time (minutes) | 157 | 148 | 138 | 124 | 113 | 100 90 82
A time series graph is drawn to represent the data.
The first four points have been plotted.
A
160 F =
150 -+
1401
130"
120 {44
Time T
(minutes) 110 r+
1001
Oﬁ o B L] ‘ o T I I T e B e s Eaet >
2012 2013 2014 2015 2016 2017 2018 2019
Year
2 2

1B/M/Jun20/8300/2F
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Do not write
outside the
23 (a) Complete the graph. box
[2 marks]
23 (b) Use the graph to estimate the average daily time per student in 2020
[1 mark]
4t
Answer Y minutes
24 Work out the highest common factor (HCF) of 75 and 105
[2 marks]
STE s
Sl2s| 35 LRSS =15 )
5 =3
Answer A 6
Turn over for the next question
5

Turn over »

L S
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25 Here is a cuboid.
E S5cm
o 5cm
ycm
25 (a) Assume that the total surface area of the cuboid is 200 cm?
Work out the volume of the cuboid.
[3 marks]
= X wd x n
SA = 4(5%:9& (e x&= R00| V= TSx&xs
9\0\\_\) + S0 =300
— 2y =180 . | V= \87.5
Ll == lSo
Rt i )
4= 1S

Answer \ g ~[ g

L
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25

25 (b) In fact, the total surface area of the cuboid is smaller than 200 cm?

What does this mean about the volume of the cuboid?
Tick one box.

\/ It is smaller than the answer to part (a)

It is bigger than the answer to part (a)

It is the same as the answer to part (a)

It could be any of the above

i 30<1<45 /31\
45 <1 <60 w

Circle the number of people who spent more than 30 minutes.

26 Here is some information about the time spent on social media by 50 people.
Time,  minutes Number of people
0<tg15 2
15 <1< 30 9

[1 mark]

21t & =5

[1 mark]

Do not write
outside the
box
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27 At a party there are 90 people.
48 are women and 42 are men.
Some women leave.

Some men arrive.

The ratio of women to men is now

10: 11

Are there now more than 90 people at the party?

Tick one box.

Yes v

No

Show working to support your answer.

Cannot tell

[2 marks]

(A0 D Y

Liomen 1 Mg

HO! by

= R4 Veode.

L
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28 Alex and Bev sat six tests, each with 50 marks.
The table shows their mean percentages after five tests.

Alex | 60%

Bev 52%

After all six tests, their mean percentages were equal.
In the sixth test, Alex scored 24 out of 50

Work out Bev's score, out of 50, in the sixth test.

Do not write
outside the
box

[4 marks]
%L\,— *(('\Q_D —_— L“*R',/;,'
\
COXS +48 __ 4% _ g
g - 6
260+ x = 4R .
- . = 24 — 26 =82 [
e
s 510
Answer | L""‘F out of 50
Turn over for the next question
|
Turn over »

AR
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29 A solid piece of silver has
mass 2.625 kilograms

volume 250 ecm3

Work out the density of the piece of silver.
Give your answer in grams per cubic centimetre.

[2 marks]

D‘QX\J\\'\\ —_ ‘,}3—3”

Joturas

O -0 108 x (800

Y I = 105
oS5 T
Answer 10 "5 g/em?3
30 Work out the gradient of the straight line through (-2, 3) and (1, 9)
[2 marks]
&\’, o :)2 = - —
AxX | -y 3
Answer 2

END OF QUESTIONS

2 8
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